B E A2 102 £ £ & a4 ¥ 48 4 F XA

2ATH M H RS A # B G

%2 |7 #4E

ZE (D Partl 20 R - REARWRSF KEXRLELSELE —AREMHELE
HEARERA (R 1-~20%) BREHFI 5 EHIAME 05 -
(2) BATZREMHERE - ARZEXRAZEHELH -

Partl: B88 (5835 £ 605 )
1. Over the past year, output grew 6%, capital grew 8%, and labor grew 3%. If the labor income accounted for

60% of the national income, how much did productivity grow?
[A] 0% [B] 1% [C] 2% ID] 5% [E] -5%

2. The aggregate production function for an economy is ¥ =2.5K*° N, The economy has a competitive labor
market with supply of labor N° =25w’, where w is the real wage rate. Suppose capital stock is 16, K = 16,
and labor force equals 125, the labor market equilibrium implies the real wage is and the rate of

voluntary unemployment equals
[AY 1;80% [B} 1.1;75.8% [C) 1.5:55% (D} 2;20% [E] 22;32%

3. Follow Q2. Now suppose that the government levies a labor income tax rate of 7 =20%. What effect does
NOT the labor income tax have?

[ A] Labor supply curve shifts to N* =25[(1-1)w]".
[ B] Employment reduces to N =20.

[ CJ Unemployment rate increases to 84%.

[D] Real wage decreases to 0.89.

[ E] Output decreases to below 45.

4. According to Quantity Theory of Money, if money is growing 5% per year, real GDF is growing 2% per year,
and velocity of circulation of money is constant, then inflation rate is ; moreover, if the real interest

rate is 4%, by Fisher equation, the nominal interest rate is .
[A) 5%:; 9% [B] 5%; 1% [C] 3%:; 7% [D] 3%: 1% [E] 7%: 11%

5. A bond-financed increase in government expenditure will cause
fA] real GDP and the interest rate to rise in both Classical and Keynesian models.
LB} real GDP and the interest rate to rise in Classical model only.
[LC] real GDP and the interest rate to rise in Keynesian model only.
[D] real GDP to rise only in Keynesian model and the interest rate to rise only in Classical model.

[E] real GDP to rise only in Classical model and the interest rate to rise only in Keynesian model.
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6. An expansionary fiscal policy in Keynesian IS-LM model usually has a crowding out effect unless
[ AJ price is flexible instead of rigid.
[B] investment is very sensitive to the interest rate.
[ C] money demand has a transaction motive.
[ D] marginal propensity to consume is close to one.
[ E] money market exhibits a lquidity trap.

7. Aneconomy has the Phillips curve: 7, =77 —2(u, —0.06). Let the expected inflation rate at ¢ = 1 equal zero
(7] =0) and the unemployment rate be targeted at u, =4% . Assume that people have adaptive

expectations about inflation: 77, — 27 = B(z, —x°), and the adjustment parameter £ equals 0.5. What will

t+i ¢
be the inflation rate at ¢ = 2 if government intends to set the unemployment rate at u, =4%7

[A) 2% [B] 3% [C] 4% D]} 5% [E) 6%
8. According to the new classical theory, an unanticipated increase in money supply will

[ A] increase both the price level and employment, but decrease the real wage.

[B] increase the price level, but leave employment and the real wage unchanged.

[C] increase the price level, employment, and the real wage,

[ D] increase the price level, but decrease employment and the real wage.

[E] decrease the price level, but increase employment and the real wage.

9. Suppose an economy is initially in a steady state with capital per worker below the Golden Rule level. To
reach the Golden Rule level of capital per worker, it should _ the saving rate. In the transition to the
new steady state, consumption per worker will

[A] increase; always exceed the initial level.,
[B] increase; first fall below then rise above the initial level.
[C] decrease; always exceed the initial level.
[D] decrease; first fall below then rise above the initial level.
[E] decrease; first rise above then fall below the initial level.

10. An expansionary monetary policy by the central bank includes which of the following?
[A] Lowering of the reserve requirement
[{B] Lowering of the discount rate
[C] The purchase of securities in the open market
[D] Allof A, B,and C
[E] Noneof A, B,and C
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The above figure shows a decrease in the price of apples. Which of the following is true?

[ AJ The substitution effect is the movement from A to B and the income effect is the movement from B to C.
[B] The substitution effect is the movement from C to B and the income effect is the movement from B to A.
[ C] The substitution effect is the movement from A to C and the income effect is the movement from C to B.
[ D] The substitution effect is the movement from B to C and the income effect 1s the movement from C to A.

[E] The substitution effect is the movement from C to A and the income effect is the movement from A to B.

Which of the following is most likely to be a variable cost?
L AJ Property taxes.
[B] Interest on outstanding bonds.
[ CJ Insurance premiums.
[ D] Wage payments.
[E] Payments to employees with long-term contracts.

Let MC =marginal cost, MP =marginal product, w=wage, TC =total cost, and VC = variable cost.
Using this notation, M(C =

FAY wxMP. [B] 7C+VCy/w. [C] MP/w. [DY w/MP. [EY 1/ MP.
Connie has $ X', and the interest rate is ». Her two-period budget constraint is the line connecting in
future consumption and in current consumption,

[AY $X;$X

[B} $x(0+r);8X

[CISXx:$Xx(1+m

[DY SX/l+r);$X

[E1SX,$X/1+r)

Suppose you are to inherit $10,000a year from now and have just sold your rights to that inheritance for
$9,700, and that you would have accepted no less than $9,389 in exchange for those rights. What is the
current interest rate?

[A] 2.8% [B]} 2.9% [C] 3.0% (D] 3.1% {E] 3.2%
Which of the following production functions exhibit constant returns to scale? In each case y is output and K
and L are inputs. (1) y =K"?L'° (2)y=3K'"21"" 3)y=K"*+I"* (4)y=2K+3L.

[A] 1,2and4 {B} 2, 3and4 [C]1,2and3 [D] 3and4 [E] 2and 4
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17. 1f there are negative externalities associated with the production of a good and the government imposes a
policy that forces producers to pay these cdts, the equilibrium price
[ A] will rise and the equilibrium quantity will fall.
[B] will fall and the equilibrium quantity will increase.
[ C] and the quantity will both fall.
[D] and the quantity will both increase.
[E] will rise but the change in quantity will be indeterminate.

18. If both firms behave as leader firms, then
[A] Cournot equilibrium results.
[B] Stackelberg equilibrium results.
[ C] Stackelberg disequilbrium results.
[ D] Bertrand equilibrium results.

{E]) Cournot and Bertrand equilibrium results.

[n answering the questions, consider the following game where two shops are deciding about whether to charge a

high or low price. The outcomes are represented as (McDonald, KFC).

KFC
Low price High price
McDonald | Low price (200, 200) (500, 100)
High price (100, 500) (300, 300)

19. Refer to the example above, the equilibrium of this game, if played only once, is that
[ AY only McDonald charges a low price.
[B] both firms charge a low price.
[ C] only KFC charges a low price.
[D] both firms charge a high price.
[ E] none of the above answers are correct.

20. Refer to the example above, if this game is repeated over an infinite or uncertain horizon, the most likely
observed behavior will be that
[ A} only McDonald charges a low price.
[ B] both firms charge a low price.
[ C]) only KFC charges a low price.
[ D] both firms charge a high price.
[ E]) none of the above answers are correct.
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1. Consider an economy with the consumption function: € =200+ 0.75Y,,, where Y, is disposable income.
The investment function is [ =200-25r. Government purchases and taxes are both 100. The money
demand function is M“/P=Y —100r. The money supply M is 1,000 and the price level P is 2. Suppose
that the government plans to issue consumer vouchers ( 5§ & # ) to add to the autonomous consumption to

raise equilibrium real GDP to ¥ = 1,200. How much consumer vouchers need to be issued? Answer:

(21) .

2. Country A and country B both have the production function: ¥ = F(K,L)=K""I'?. Assume that neither
country experiences population growth nor technological progress and that 5 percent of capital depreciates
each year. Assume further that country A saves 10 percent of output each year and country B saves 20
percent of output each year. Denote the steady—state level of capital per worker for country A and B tobe £,
and k,, respectively. What is the ratio of & over K., k,/k,7 Answer: (22) .

3. Among the following Taiwan business indicators, which is (are) leading indicator(s)? Answer: (23) .

(RRFHEE > 5By ELARESAL)
Index of export orders  b. Industrial production index c. Monetary aggregates M1B

Unemployment rate e. Stock price index {. Building permits
SEMI book-to-bill ratio h. Index of producer’s shipment for manufacturing

IS

Nonagricultural employment i. Inventories to sales ratio for manufacturing

4.  An expectations-augmented aggregate supply curve i1s given by Y = 500—100(13" / P)2 and an aggregate
demand curve is given by Y =AM/2P. Here, P and P° are actual and expected price level, respectively.
Initially, the money supply is M =800. Suppose the monetary authority announces that it will increase M

from 800 to 1600 and then enacts the policy. What are the new equilibrium values of Pand ¥?  Answer:

(24) . (BFP=_ Y=_ - 2AHBHBERPERY ZRE5 Kty $H—@ F35
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5. A perfectly competitive firm has a cost function given by STC(g) = g* + 8¢ + 1. If there are 500 identical
firms in this industry, what is the industry’s supply curve? Answer: _ (25) . If the market demand

function is O = —50p + 1000, what is the equilibrium level of output for an individual firm? Answer:

(26) .

6. Suppose Coca-Cola is a Stackelberg leader and Pepsi is the follower in a duopoly, and industry démand and
cost conditions are P =60—2(qepy + Gpp) 3 MCop =10 and MC,,,, =20. What are the Stackelberg
equilibrium quantities? Answer: _ (27) . (9 H B E qep = e = ° BH—ME 4
2544 #)  What is the Stackelberg equilibrium price? Answer: __ (28) .
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